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1.	Introduction
In RAN2 WG, it was agreed that contention-free random access (CFRA) is required to acquire a TA for TAG including only LAA SCells. However, according to RAN1’s agreement in RAN1 #85 meeting, it is concluded that the CFRA will not be supported in LAA SCells.
	Enhanced LAA can operate without PRACH at least in scenarios with limited separation between base stations on licensed and unlicensed carriers, if the initial values of timing advance and power control are defined, e.g. if the licensed and unlicensed carriers are in the same TAG



While the agreement mentioned that for example the licensed and unlicensed carriers are in the same TAG, it can be discussed further in RAN2 how to configure a TAG for an LAA SCell. 
[bookmark: OLE_LINK12][bookmark: OLE_LINK13]2.	Discussion
Without supporting RA procedure on LAA SCell, it is not possible to acquire a TA for TAG including only LAA SCells. Therefore, RAN2 should discuss how to handle the TA for LAA SCell without supporting RA on LAA SCell. Considering that Timing Alignment is managed per TAG, there would be solutions including:
1) LAA SCell belongs to pTAG;
· Pros: TA can be acquired by performing random access procedure on PCell in pTAG. As PCell is always configured, solution 1 is always possible. 
· Cons: Only the LAA SCells which have a similar TA value with PCell can used. Considering that LAA SCell is on unlicensed band while PCell is on licensed band, it would limit the use of LAA SCells.
2) LAA SCell belongs to sTAG including an SCell on licensed band;
· Pros: If at least one Licensed-SCell is already configured, LAA SCell can belong to the sTAG to which a Licensed-SCell belongs. Then, TA can be acquired by performing random access procedure on a Licensed-SCell in the same sTAG to which the LAA SCell belongs.
· Cons: sTAG exists only when there is at least one Licensed-SCell. Therefore, if there is no Licensed-SCell configured to the UE, LAA SCell cannot belong to any TAG, hence, LAA SCell cannot be used. Alternatively, a Licensed-SCell can be added prior to configuring the LAA SCell, then LAA SCell can belong to the sTAG to which Licensed-SCell belong to and TA can be acquired by performing random access procedure on that Licensed-SCell. This would bring unnecessary addition of an Licensed-SCell only to acquire TA of LAA SCell.
3) LAA SCell belongs to sTAG including only LAA SCells and a pre-defined TA value is applied to that sTAG;
· Pros: Since the sTAG is configured with only LAA SCells, network has a flexibility to configure an LAA SCell without considering other SCells on licensed band or TA of PCell. 
· Cons: Without supporting random access on LAA SCell, TA cannot be acquired for the sTAG including only LAA SCells. Therefore, a pre-defined value should be used for this sTAG.
With above analysis, the solution 2 is not preferred because we want to have a complete solution which always works well regardless of whether there is an SCell on licensed band or not. In this sense, the solution 1 seems possible since PCell and pTAG always exist. However, given that unlicensed band is considered as a good complementary tool to augment services and throughput, it wouldn’t be desirable to restrict the chance to use unlicensed band by configuring only the LAA SCells having similar TA with PCell. We think Solution 3 could support use of LAA SCell efficiently even without RA on LAA SCell. Although a pre-defined TA value is required, considering that LAA SCell would be a small cell, TA value could be assumed e.g., 0.

Proposal: Without supporting RA on LAA SCell, LAA SCell belongs to an sTAG including only LAA SCells and a pre-defined TA value is applied to that sTAG.
4.	Conclusion
In this contribution, we discussed how to handle a TA for LAA SCell without supporting RA on LAA SCell, and propose: 
Proposal: Without supporting RA on LAA SCell, LAA SCell belongs to an sTAG including only LAA SCells and a pre-defined TA value is applied to that sTAG.
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